

Republic of the Philippines Office of the President

PHILIPPINE SPORTS COMMISSION

REQUEST FOR QUOTATION

The Philippine Sports Commission, through its Bids & Awards Committee, invites interested **PHILGEPS-accredited** suppliers to submit SEALED signed formal quotation/s for:

Particular	Descri	ABC (PHP)	Place of Delivery				
Supply and Delivery Customized Collared and Round Neck Shirt for Philippine Youth Games – 2022 Batang Pinoy National Championships	Collared Shirt >Full Sublimation: Dri-fit Fullmax fabric >Eyelet exterior texture; wrinkle resistant; moisture wicking; self fabric neckline/ knitted >Self fabric cuff; continues placket; 2- button placket; bottom hem side slits >Neck-tape application; sublimation printed; as per design >Batang Pinoy Logo Size: height 3" proportion to width >Batang Pinoy Text: Font Avenir Next LT Pro Demi Height 1cm proportion to width >PSC Logo (at the back, nape area): 2.5" diameter >Text color white (at the back) — as per design	QTY	<u>Unit</u>	<u>Unit</u> <u>Cost</u>	Total Cost	933,300.00	Property and Supplies Office, Rizal Memorial Sports Complex, P. Ocampo Sr. St. Malate, Manila
	1 VIP - BLACK >Small - 7pcs, Medium - 12pcs, Large - 14pcs, XL - 14pcs, 2XL - 10pcs, 3XL - 3pcs	60	pcs	445.00	26,700.00		
	2 TWG - GRAY XS - 10pcs, Small - 25pcs, Medium - 40pcs, Large - 30pcs, XL - 30pcs, 2XL - 10pcs, 3XL - 5pcs	150	pcs	445.00	66,750.00		
	3 TWG – AQUA BLUE XS – 10pcs, Small – 25pcs, Medium – 40pcs, Large – 30pcs, XL – 30pcs, 2XL – 10pcs, 3XL – 5pcs	150	pcs	445.00	66,750.00		
	4 TWG - WHITE XS - 10pcs, Small - 25pcs, Medium - 40pcs, Large - 30pcs, XL - 30pcs, 2XL - 10pcs, 3XL - 5pcs	150	pcs	445.00	66,750.00		
	5 T.O - DARK BLUE XS - 10pcs, Small - 30pcs, Medium - 138pcs, Large - 105pcs, XL - 85pcs, 2XL - 25pcs, 3XL - 10pcs, 4XL - 5pcs, 5XL - 2pcs	410	pcs	445.00	182,450.00		
	6 T.O – ORANGE XS – 10pcs, Small – 30pcs, Medium – 138pcs, Large – 105pcs, XL – 85pcs, 2XL – 25pcs, 3XL – 10pcs, 4XL – 5pcs, 5XL – 2pcs	410	pcs	445.00	182,450.00	= 1.	
	7 T.O – GREEN XS – 10pcs, Small – 30pcs, Medium – 138pcs, Large – 105pcs, XL – 85pcs, 2XL – 25pcs, 3XL – 10pcs, 4XL – 5pcs, 5XL – 2pcs ***more items next page***	410	pcs	445.00	182,450.00		

	>Full Sublimation: Dri-fit Fullmax fabric					
	>Eyelet exterior texture; wrinkle resistant; moisture wicking; self fabric					
	neckline					
	>Neck-tape application; sublimation printed; as per design >Batang Pinoy Logo Size: height 3"					
	proportion to width >Batang Pinoy Text: Font Avenir Next					
	LT Pro Demi Height 1cm proportion to width					
	>PSC Logo (at the back, nape area): 2.5" diameter					
	>For MEDIA – 3" Text color white (as per design) >For VOLUNTEER – 2.5" Text color					
	white (as per design)					
3	MEDIA - PURPLE Medium - 11pcs, Large - 11pcs, XL - 10pcs, 2XL - 3pcs	35	pcs	300.00	10,500.00	
	MEDIA - MAROON	35	pcs	300.00	10,500.00	
)	Medium – 11pcs, Large – 11pcs, XL – 10pcs, 2XL – 3pcs					
	VOLUNTEER - RED Small - 35pcs, Medium - 70pcs,	230	pcs	300.00	69,000.00	
	Large – 70pcs, XL – 40pcs, 2XL – 10pcs, 3XL – 5pcs					
1	VOLUNTEER - LIGHT GREEN Small - 35pcs, Medium - 70pcs, Large - 70pcs, XL - 40pcs, 2XL - 10pcs, 3XL - 5pcs	230	pcs	300.00	69,000.00	
	nothing follows					
	NOTE: Submit one (1) actual sample for	each desi	ign upon s	submission o	of quotation	
	Delivery Terms: Fifteen (15) Calendar	davs				

The following documents must be submitted from 18 November 2022 to 21 November 2022 at 5:00 pm, directly to the Bids and Awards Committee Secretariat located at Room 207, 2nd Floor, Administration Building, Rizal Memorial Sports Complex, Pablo Ocampo Sr. St. Malate Manila.

- 1. PHILGEPS Registration or PHILGEPS Certificate
- 2. Updated Omnibus Sworn Statement (notarized), per GPPB Resolution 16-2020
- 3. 2022 Mayor's/Business Permit
- 4. Income Tax Return (ITR) For 2021

For additional information, please contact the Procurement Office nos. Telefax: 524-3512 or 524-4408 loc. 153/147.

Quotations must be properly labeled with reference number on the project offered. In case the deadline falls on non-working, legal holiday, or special non-working holiday, the deadline shall be on the next working day.

The Commission reserves the right to not accept any and all quotations or not award the contract on the following grounds:

- There is prima facie evidence of collusion;
- The BAC failed to follow prescribed procurement procedures; and or
- There are justifiable grounds where the contract will not redound to the benefit of the government without incurring any liability to the affected bidder/s.

ANNA CHRISTINE ABELLANA
BAC Vice Chairperson

SAMPLE DESIGN FOR COLLARED SHIRT





RFQ11162022 3

SAMPLE DESIGN FOR COLARED SHIRT





RFQ11162022 4

SAMPLE DESIGN FOR COLARED SHIRT





5

SAMPLE DESIGN FOR COLLARED SHIRT



SAMPLE DESIGN FOR ROUND NECK SHIRT



SAMPLE DESIGN FOR ROUND NECK SHIRT





RFQ11162022 7

SAMPLE DESIGN FOR ROUND NECK SHIRT



8